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sewnflzn / MATHEMATICS

(50D wHmIb 2piifle euyfl / Tamil & English Version)

&re) Bemey : 3.00 wenfll CHywbd ] | [ Qs wHLCQUETSET : %0
Time Allowed : 3.00 Hours | [Maximum Marks : 90

Sifleyemrset : (1) waisg damssesnd sflurst vHaurd o darsr TaTUSHaTF
sflurisgs Qasrerareyd. HFsliudlale Goplmubea, s

samsreniiiuraril_b 2L aigurss Qsfefbse, .

2 B oegk sSHBUY @wvWaar bLHCWD

TPHUSHGLD,

<13Cary GeaugHEd LuaURSSs CauanBb. ULRSE uaTusHE

Quenfled LW (HSS6LD.

Instructions : (i) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

LGS - 1/PART -1
GOy : () Sevess famssErsEh ol wealsseb.,

20x1=20

(i) Gar@sstiu’@drer prenE wrHy e sefle lsad ghLeLw

ey CeipCs®hsss GHlGLear oL wmeanyb Csiss

T(PSLD.
Note : (i)  All questions are compulsory.

(i) Chogse the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1.

y?=4x erenm LFeuEMUSEDHGD Sipen GFcicswgdbEn Qo Cu uriureng) :

8 2 5 4
(o) () 2 @ > (w) 2
'The area between y2=4x and its latus rectum is :

8 2 5 4
@ 3 ’ by 3 © 3 @ 3

3 - .
J:( a2 —x2) dx -@en Ay :

3mra’ mad 3ma’ 3mra’

(=) —5 (=) () 5 () —¢
3

The value of J:(\/az —xz) dx is:

3ra’ 3 3ma’ 3ma’
@ 5 ® = @ @

P(x, y) erenp yerell Gelwbiser Fi(3, 0) wpmb Fo(-3, 0) Qe FnlDL| QUENETGY
16x2+25y2=400 -er Bgdren yeiedl erafled PFy +PF, -6 odili
(21) 10 ()8 (@) 12 (%) 6

If P(x, y) be any point on 16x2+25y? =400 with foci F;(3, 0) and Fy(—3, 0), then PF, +PF,
is:

(a) 10 ) 8 (© 12 @ 6

|24l =1, 25| =2, |z5| =3 LODID [92,2, +42,2; + 2,25 =12 eTafled, |z, + 2, +24] -em Sl

(1) 3 (<2p)1 () 4 (/) 2
If |2,| =1, |z5| =2, |z5|=3 and |92z, + 42,23+ 7,2,/ =12 then the value of |z, + 25+ 24) is :
@ 3 (b) 1 (c) 4 d 2

-
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(pva) A (pvr) eremy Glow S _cueeamiler o drer Hlenraafiar eramaniléons :

(=) 6 (<) 9 @) 3 (w) 8

 The number of rows in the truth table of (pvq) A (pvr) is :

@ 6 ® 9 © 3 @ 8

- - w
- B @by pSluemes SmEGL SaEd o SennbEETeTg erafld,
(@) [, 8, 7] - (@) [, 8, 7] -1
@ [ 7 7]-2 ™ [ 5 7]--1
~3 - -
If a vector o lies in the plane of B and v, then:
@ (3% 7]=0 o [2 53]

© [@87]-2 @ [o 8 3]--1

y=Ae*+Be™% @@ A, B eranuar gCsaub -G wrilelsdr, qraub eumeTaamrs
Asr@duiien cumssta(ps swerLT® :

dy = &’y dy y
a Y0 (@) ty=0 (@) g Y=o (M) 3 -y=0

(=4)

The differential equation of the family of curves y = Ae¥ + Be ™%, where A and B are arbitrary
constants is :

d g2 d a2
@ —+y=0 @ F+y=0 @ FL-y=0 @ 7 ¥ =0

[ HpliLyg / Turn over
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10.

11.

- flx) = ;1; -ai1 flevL ol L § Clgmenerd QgrhGar( :

() x=c (<) y=0 (®) y=c (m) x=0
The horizontal asymptote of f(x) = —91; is :

(8 x=c ) y=0 © y=c @ x=0

. x . . .
flx) = 1 crafled, igen euansuiQ :

1 -1 4 i 1
1 (%) ¢+ 1)? &) 1 (%) G+ 12

(1)

If f(x)= ;%, then its differential is given by :

1 -1 dx -1 1
(2) x+1dx (b) (x + 1) -9 x+1 (d) (x + 1)°

(1+i) (1+2) (1 +30)...(1+ni) =2 +iy arafled, 2510... (1 +n?) -an wHOY :
(1) 2 +y? ()1 . (@) 1+n? (/) i
If (1+4) (1+2i) (1+3§)...(1+ni)=x+iy then 25:10...(1 +n?) is :

(@) x2+y? by 1 () 1+n? (d) i

3 =322, 20, 3] eranm sri9n@ Grreler CshmHars Heope| CFWILD eTedT :

(@) (@)1 @) 2 (%) V2

The number given by the Rolle’s theorem for the function 2 —3x2, xe[0, 3] is :

(a) (b) 1 () 2 @ 2

MW
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x2—3=5x+3y eTeny) &nlbL] cueneTelen 6UEMS

(=) siFuraseneruibd (<) Bemaul L ib

(8) aulLb (rF) ugeuenemwILD

The type of conic section for x2—3=5x+3y is :

(a). hypg'rbola (b) ellipse

C circle d arabola
) p

-2 -1
@73 @] el w5 ]]

5 3
If A is a non-singular matrix such that Al= {_2 _q

-1 -3 -5 3 5 —2 5 3
(@) [2 5} ®) [2 1} © [3 —1} @ [—2 —1}

5 3
A eremug) LysSwnhns Garenal el bpmb A~ = [ } erafley, (AT)~1=

}, then (A1)~ 1=

—

- [ — — O — — . N & —_)) .
r=(i +2j —3k)+t(2i + —2-k) erearp GamriighH@b r-(t + j] +4=0 eramp
sarsHD@GL @eniul L GamewTb :

(1) 45° (<) 0° () 90 (rr) 30°

) o - — - o -

The angle between the line r=(i +27 -3k) +t(2i + j ~—2k) and the plane
- (> -

r~(i +j)+4=0is:

fa) 45° ®) ©0° @ 90 (d) 30°

[ #miys / Turn over
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15.

16.

17.

18.

o

XIl - MARCH 2024 6

sin 1x + cot™! (%} = g erafled x -er L :

2 | 1 1
(o) (%) 3 @ 2 (™ T
If sin ‘x + cot™ ! [%J = gx, then x is equal to :

2 1 1
@ 7 ® 5 © 2 @ 7

B+pr?+qr+r -&@ o, B LOOMID v ereiUeney LFAwnnsSser el zl -6 gl :
o

(1) 3 () - @ ~3 (m) -2

If o, B and v are zeros of x>+ px? +qx +r then Zl is :
a

@ 2 ©» -3 © @ -B
Var(3) -em gl :

(=0) 0 (<) 3 (&) Var(3) (/) 9
The value of Var(3) is :

(@ 0 ®) 3 () Var(3) (d) - 9

n=25 WHmitb p=0.8 erenm 2 @rer FHHILIL LFaud QaramL gsweumiUL wrdl X erefled,
X -er SI_L_ellevdssslen wEHOL :
(=1)3 - (=)e (&) 2 () 4

The random variable X has binomial distribution with n=25 and p=0.8 then standard
deviation of X is : '

(@ 3 (b) 6 © 2 (dy 4
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19. A, Buwhmbd C erenuen Gpiorm sransssseaury gCsaGorm euflasulld Gmule
Wemeu(meuameuDMied 6TE 2 @TeLDIID ?

(1) det A=1=(det A)~1 (<=1) adj A=|AJA~!

(@) (ABC)~1=C-1p-1A-1 (/) adj (AB)=(adj A) (adj B)

If A, B and C are invertible matrices of some order, then which one of the following is not
true ?

(@) det A"1=(det A)~1 (b) adj A=|AlAT]

© (ABC)~1=C-1B-1a-1 (d) adj (AB)=(adj A) (adj B)

20. x°+64 -ef @ YFAWILTES

(=) 4 (=1)0 (@) -4 (rF) 4
A zero of ¥*+64 is :
(a) 4 (b)y 0 () —4 (d) 4

@S - 11/ PART - 11

@iy : eTemeuGuenid erp eNanTs s EReEE el wellssen. eflenT era 30 -&(&
sU__muwnrs e weféseyib. 7x2=14

Note : Answer any seven questions. Question No. 30 is compulsory.

12
21, HBREGS : 2 "
d n=1

12
. e . 2 "
Simplify : :
n=

22, 2%2-7x+13=0 aT@d @(HLIGEF FLTUTLIG6N PPOBISEHT a HMmIb B erafld o HnHiID
T By dlueupenn apeiseTras QETaRTL. 6(h BYHUIGE FOSMUM ML 2 (HeUTESe D,

If & and B are the roots of the quadratic equation 2x?—7x+13=0, construct a quadratic
equation whose roots are o and f2.

A [ &®iys / Turn over
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24,

25.

26.

XIl - MARCH 2024 8

f(x_)=x2+3x ereoim FTTAME df &srewms. WHMWD x=3 WHHWD dx=0.02 ergyd Curg)
df -g wduahs.

Find df for f(x)=x2+3x and evaluate it for x=3 and dx=0.02.

2 f aifuirss Qeogin CrisGasrhsalan QargHule cumasstsips Fweamm_enL s

HIT .

Find the differential equation for the family of all straight lines passing through the origin.

2(x —1) 1< x <2

sauriitiy ol X -ar Paspssa) SIS sy f(x) = { 0 Ypwdlys@ssEs

grrsfl sraws.

For the random variable X with the given probability mass function.

_J2Ax=1) 1< x<2
fx) = { 0. otherwise

Find the Mean.

W (-3, —4) LOHMID RTFD 3 OGHET QararL cul L gdlem urgiellyels
FLOGTUMR HTeTs.

Find the general equation of a circle with centre (-3, —4) and radius 3 units.
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-1 3
27. |4 —7|erem Senfluiien eflssmd Hrems.
3 -4
-1 3
Find the rank of the matrix | 4 —7|.
3 -4
i
2
28. wHIAms : Isinwxdx
5
Ll
2
Evaluate : ISinm x dx
0
x2 —-3x+2

29. sewsdl(Rs : Im —
=1 x° —4x +3

. x> —3x+2
Evaiuate : lim 2—
. -1 x° —4x + 3

- - - - — - - — L. L. .
30 2i ~ j 43k, i—j,3i—-j+6k dwu QeusLiseT g Hem GleusL fEemTEGid

eran HlemL9&sayLb.

- - = = - — - -
Show that the vectors 2i — j +3k, i — j and 3i — j + 6k are coplanar.

A ‘ [ iy / Turmn over
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U@ - I/ PART - HI

&MLy : eremeuBuend e Narss@ssE ollenwelldsaw. elerr erewm 40 -&e@

S_Lmwwng eSleweflEse|b. - 7x3=21
Note :° Answer any seven questions. Question No. 40 is compulsory.
31. cot—l[ ] =sec ! x, x| > 1 eTands BT (H&.
x? -1
1 - |
Show that cot =sec x, x| > 1L
] xc —1

32, x?2+6x+4y+5=0¢ranp ureuemeTwSEHNE (1, —3) ereym Yerafludted QgrHGasrh wHmb
QemGar _NF FLaTUTD&®ETS SIS,

Find the equation of tangent and normal to the parébola x2+6x+4y+5=0at (1, —3).

33. |:a—b,b-— ) —Z]%Oa@ﬁgm$.

e —>:|
= ().

Provethat[a——b, b—-—c, c—a

2,2
M uey)= x,/x++yy oD, x% +ygy£ - %u era Flpyeys.
2, .2
If u(x,y) = % prove that "g_: + y%;l_ = %u_

35. @u’d’rr@ Hens eramrsetien sl (B Qgrens 12, Cogib igar duBEGS Cgras
QuEBLOLD eTfled, BIBS CTERTHMETS HTERTS.

Find two positive numbers whose sum is 12 and their product is maximum.

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


user
Typewriter
XII - MARCH 2024

user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


X1l - MARCH 2024 n

3ar

1
. : . 8 — dx
36, wslly sTaws % 1+ Jiant

L
8
Evaluate : T ——=dx
T 1+ Jtanx
8

, \3 N3
37. [Hl-) - (1 I,J -83 Qgeucus euigailed &(hHEEGs.

-t
-+

.\3 \3
. ) 1+1y (1-i .
Simplify ( 1= J ( 1+ 1,) into rectangular form.

38. Sissm: (1+ xz)% =1+y2

d .
Solve : (1 + x2)Y =1 + 2
( I)I y

39. apenn Srren presnwniser @Cr Corsdle &@TLL’JLl@é]G’Mﬂ)@T. FleoL &G genasatier
crananflsamassner Hapssa Heon srmmeas sraums.

Three fair coins are tossed simultaneously. Find the probability mass function for number of
heads occurred.

2 -1 3
40. A=|-5 3 1| ereflle |adj (adj A)| -eweu sTems.
’ -3 2 3 '
2 -1 3
If A=|—-5 3 1|, then find [adj (adj A).
-3 2 3
A : _ [ Slgpliyys / Turn over
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L@S) - IV/ PART - IV
@Ol : emensgl anmss@rs@Gh eflenwealissa). ‘ 7x5=35
Note : Answer all the questions.
41. (=) y=22 Hmb y=(x —3)> Y Hlu cuemeTeLanFaE@HsE e Liul L GarerTid srers.
VSV
— 1} +tanﬁ-1(x * 1J =T
-2 x+2 4

(/a) Find the ahgle between the curves y=x2 and y=(x—3)%

() Eié5 : mn_l[i

OR
(b) Solve: tanml[x _1j +tan—1[x ! lj =
o x—2 x+2 4

42. (=) @f Sipu&Es LsmLGean g LssEHD 1” eTewalb, @ LssmGETM ‘3’ eranabd
PMID ML ppaTn LSShSaNe 5 erateyb Ghssiul Herarg. US®L. -
B wpeep SsuGdng. @ wpeon edsliLil L e Corgs o a@marilEmaamw
X @hsdng erefle,
0 Bapssa Heop smiy
(i) @efey Lreud &miy
(i) P = X <10) -enws SIans.
' IEYCMOVES)
. : . . s 2z+1
() z=x+iy T gEHAD H SelGlUewT Im(iZ T
z -6 Hubtiureng 2x2+2y2+x -2y =0 erand &1 (Hs.

) =0 eTE@IOTM HHMLDHE T

{a) A six sided die is marked ‘1" on one face, ‘3 on two of its faces, and ‘5" on remaining
three faces. The die is thrown twice. If X denotes the total score in two throws, find :

(i) the probability mass function
(i) the cumulative distribution function
(i) P@ < X<10)

OR

22+1] = (0, show thatthe locus of z is

(b) If z=x+iy is a complex number such that Im( =
iz

252+ 2% +x—2y=0.
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43. (=) sradprs meussiLL L @ Chiall L smibiler caugefd 2 drer g Bifleawd
Qsmigullen <y, 12 BU i wpmb Cuogiarar eul L gHem < 7ib 5 BU LT eTes.
A LsHDE 10 sanSiLi Ceussded B umiFsLu@ing erafea, 8 BLLT
ppsHer Bir @ms@wCurg Sfen wyppib HHsNsEn eisb ereme ?

ENLMENE ]
() QeusLir panpuiled sin(d— B) =sina cosP — cosa sinP eTen Himiey&.

(a) A conical water tank with vertex down of 12 meters height has a radius of 5 meters at
the top. If water flows into the tank at a rate 10 cubic m/min, how fast is the depth of
the water increases when the water is 8 metres deep ?

OR

(b) Prove by vector method that sin{a — ) =sinx« cosp — cosa sinp.

4. (1) seorwlLHOmBE 7.5 8 2 wursdd seoréE @eaTursl QUTmSSILC L
®® Gerildmbs QauaflCumb BF sorows QesTOL uTms G
LeueeTwS®S GTHLRSSEDg. Gugid @bsSL Lireueerwits Lirepgsular wpenes
®wruier aimufler oiemwdlpgl. @wmi wiLsdneE 2.5 B &G Bller umleirearg
Gemler wpever aflurss Qawgid flee @Gsss Camiyng 3 5 girsdea
o arengy erafled, @SS Carliqed(mhHg ereucueTey FTSHDE SLiumed Brreng)
senruilér efl(pd eTETLNSS HTaTs.

T
(<) Wetreumd Crfld cuanssba(ps swarum e Sieay sreams
dy ¥y _

= = ginx.

dx «x

(a) Assume that water issuing from the end of horizontal pipe, 7.5 m above the ground,
describes a parabolic path. The vertex of the parabolic path is at the end of the pipe.
At a position 2.5 m below the line of the pipe, the flow of water has curved outward
3 m beyond the vertical line through the end of the pipe. How far beyond this vertical
line will the water strike the ground ? ‘

OR

(b) Solve the Linear differential equation % + L = simx
x X

A [ Simlys / Turn over
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45.

46.

X1l - MARCH 2024 14

(=1) meaweguirsaflen QUmEsSEH D, Urde Aursalen oreimanfisanasud e QL(mEs
- eigwrang sfd sreTiL@GbD urseflwurssaler eramarllGmauion elldsLomrs
e arengl. QUAumEssssrd ursefureder cramanfléens 5 wenfl CrrsHed
wpwLasTSng eraflew, 10 warfl Gy wiyeld urseflurssaflen craanfisams
eTeNemaUns @(R&@LD ?

3606V

x-2 _y-2 _z-1 . : o x4+l y-1_ z+41
(<=4) 5 3 3 eTen CamlienL 2 aremSdlwigiw it
ererm Carlign@ Qeemurargonrer gargden GeusL i wHHID STieduie

FOGTUT(DSNETE &ITaRTs.

{a) " The rate of increase in the number of bacteria in a certain bacteria culture is proportional
to the number present. Given that the number triples in 5 hours, find how many
bacteria will be present after 10 hours ?

OR

-2 -2 -1
(b) Find the vector and Cartesian equations of the plane containing z 5 s 3 =2 3

and parallel to the line x+1_y-1_z+1

3 2 1

2y
2

(=1) _2 + b 1 erenmp Feraul L gHlanmed el UHD TsGHen UTlenUs STers.

2|60V
(<) y?—4y—8x+12=0 erenp UreueeTwgHer e, Gelwb, Gusgaamruler
FLOGTLIT(H SHTeeTs.

(3y Find the area of the region bounded by the ellipse

2 2
= +
a

oS
I
—

OR

(b) Find the vertex, focus and equation of the directrix of the pafabola y?—4y—8x+12=0.
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47. " (21) p & q= ((“PIVQ) A (~Q)vp) eTewE BT (.
SIS0V G
(<) Yesraumd Crflwg swearur@seafian Cgrgleu Srmofler alldliiLig Sras.

(a)

3_4_2_,_,
X Y z
l+3+1_2=0,
x Y z
2_32_4 .19
Show that

p < q={~p)va) A (~q)vp)

OR

15

Solve the system of linear equations by Cramer’s Rule.

-00o0-

PH: 9486379461, 8344933377
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DEPARTMENT OF GOVERNMENT EXAMINATIONS CHENNAI 600006

HIGHER SECONDARY SECOND YEAR EXAMINATION MARCH 2024

MATHEMATICS MARKING SCHEME —ENGLISH MEDIUM

1. The answers given in the marking scheme are based on NEW
TEXT BOOK and SOLUTION BOOK issued on 2023.

2. If a student has given any answer which is different from one
given in the marking scheme, but carries prescribed content
meaning (rigorous) such answers should be given full credit with
suitable distribution.

3. Follow the footnotes which are given under certain answer
schemes.

4. If a particular stage is wrong and if the candidate writes the
appropriate formula, then award 1 mark for the formula (for the
stage mark 2*). This mark (*) is attached with that stage. This
done with the aim that a student who did the problem correctly
without writing the formula should not be penalized.

5. In the case of Part I, Part Ill and Part IV, if the solution is correct
then award full mark directly. The stage mark is essential only if
the part of the solution is incorrect.

6. Answers written only in BLACK or BLUE Ink should be evaluated.
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CODE A CODEB
Q.No. | Option Answer Q.No. | Option Answer
1 (a) 8/3 1 (a) 45°
2 (d) 3ma* 2 (d) 8
16
3 (a) 10 3 (a) 8/3
4 (d) 2 4 (a) 10
5 (d) 8 5 (d) 1
V5

6 (a) [@B7]=0 6 (c) 4
7 (d) d*y 7 (b) _1

dx2 r
8 (b) y=0 8 (d) 3mrat

16

9 (d) 1 9 (d) adj (AB) = (adj A)

(x + 1)2 dx (adj B)
10 (a) x? + y? 10 | (a) a@,By]=0
11 (c) 2 11 (d) d?y

dx?
12 (d) Parabola 12 (c) 2
13 (c) [5 -2 13 (d) Parabola
3 -1
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14 (a) 45° 14 (d) 2
15 (d) 1 15 (c) [5 —2]
J5 3 -1
16 (b) _4 16 (a) x? + y?
r
17 (a) 0 17 (b) y=0
18 (c) 2 18 (a) 0
19 (d) | adi(AB)=(adjA) (adjB) | 19 (c) 2
20 (c) -4 20 (d) 1
(x + 1)2
PART I
QUESTION CONTENT MARK
NO.
21 2 =@+ 2+ 3+ +
B+ +i7 +i%)+ @ +i'°+i't +i12) 1
=0+0+0=0 1
22
a2+[32=—%anda2[32=12—9 1
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3 169
x2+Zx+T=O(or)4x2+3x+169=0 .
23 df = (2x+ 3)dx 1
df = 0.18 1
24 — 4 _ 1
y =mx (or) 1= Mm
dy
y = ax 1
25 MA
26 (x-h)* +(y-k)* =
h=-3; k=-4 ;r=3 2"
(x+3)%+ (y+4)% =32
(or)
x*+y*+6x+8y+16=0
27 any one 2 X 2 minor + 0 1
p(A) =2 1
28 Z i _(M-D@=-3)(n-5).. 1w . .
fOZ SIn X = 2 if nis even
F la ( )9><7><5><3><1><n 1*
ormuaor10 gXeX1%3z%3
63w 1
~ 512
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29
x>—-3x+2 0
Mz —ax+3 0/ 1
2x—-3 1
gcl—r>r112x 4 2 1
30 . 2 -1 3
l@bé]l=[1 -1 0|/=0 1
3 -1 6
The given vectors are coplanar 1
PART Il

In an answer to a question, between any two particular stages of
mark (greater than one), if a student starts from a stage with correct
steps, but reaches the next stage with a wrong result then suitable
credit should be given to the related steps instead of denying entire
marks meant for the stage.

Question Content Marks
No. Stages
31

1
cot~1 (—) = a
vxz -1

1
cota = (—) 1
vxz -1
seca=x >a=sec lx 1
1
cot~1 (—) =sec lx 1
vaxz -1
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32 The equation of tangent
4x+2y+2=0(0r)2x+y+1=0 2"
The equation of normal x-2y+k=0; k=7 1
x—2y—7=0
Aliter: xx;+3(x+x1)+2(y+y1) +5=0 x;=1;y;=-3
33 |[d-bb-¢c¢-d]
=(d—b).{(b—¢) x (¢ —d)} 1
—(@—b).{bx¢—bxd+¢xa) !
=[db¢|-[db¢|=0 '
34 u is an homogenous function of degree 2 1
du Ju 3 2+
X + ya—y =Zu
35 Let the two numbers be x and y
x+y=12
P(x) =x(12 — x) 1
P'(x)=0=>x=6 1
P'(x)<0atx=6
Pis maximumatx = 6
X=6y=6 1
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3n
= x
. 1++Vtanx
By Properties of definite integral

3
I f? vtanx
5

X 1

d
1+ +tanx

3n
21— [ax-T
= X =—
ud 4 1
8
[A

I=—
8

37

1+i\> /1-i o _
( ) —< ) =—i—10i=-2i
1—-1 1

dy  dx
1+y2 14 x2

38

tan"ly=tanlx +c¢
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39 The values of Random variables X are 0,1,2,3 1
X=x 0 1 2 3
fx | 1 3 3 1 2
8 8 8 8
40 4] = —1 1
|adj(adja)| = |A|® D’ 1
= (_1)4 =1 1
PART IV

In an answer to a question, between any two particular stages of
mark (greater than one), if a student starts from a stage with correct

steps, but reaches the next stage with a wrong result then suitable

credit should be given to the related steps instead of denying entire

marks meant for the stage.

Question Content Stage
No. Marks
41 . ) .. (39 1
(a) The point of intersection is (EZ)
mq = 3 1
m, = -3 1
m;—m 3
tan@ = 1 21=Z 1
1+mmm, 4
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_1/(3
6 = tan (Z)
1
41 (b) x-1 | x+1
tan— - x+2 E
’ ( )G s
x+2
=1 x4l
— x+2
— 1 1
x+1
x+2
( A=)
1
2 _ 1
=3
B 1
5 1
42 a) The probability mass function
X 2 4 6 8 10
f(x) 1 4 10 12 9 2
36 36 36 36 36
Cummulative distribution function
X 2 4 6 8 10
Fx)| 1 | 5 | 15 | 27 | 1 2
36 36 36 36
13
P(4<X<10)—£ 8 1
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42 (b) 2z+1 _ (2x+1)+i 2y 1
iz+1 1-y)+ix
_ a+ib ad—bc _ 1
If 2= — then ——73 =0
_ (x+1)+i2y 1-y)—ix
- 1-y)+ix 1-y)—-ix
2z+ 1 *
Im(_ ) =0 2
iz+1
—x(2x+1)+2y1-y) 0 1
(1-y)? +x? B
2x2+2y* +x—-2y=0
43 (a) . r_h | _Eﬁz 1
Diagram 5= ;V = 3 (12) h .
- 25w B3
3 x144
dv _ 25w B2 dh 1
dt 144 dt 2
ah _ 2 m/mi
ac 107V MiN
43 (b) Diagram 1
d = Cos at +Sin aj }
b = Cos BT +Sin BJ 1
b xd =(Sin a Cos B - Cos a Sin B )k 1
b xd = Sin (a— Bk 1
Sin (¢ — ) = Sin a Cos B —Cos a Sin 1

Mgn/dgl/2024/+2/maths key
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

user
Typewriter
XII - MARCH 2024


XIl - MARCH 2024

44 (a) Diagram 1

x*= - day 1

(3,-2.5) lies on the parabola
9

a=— 1
10
P(x,,-7.5) 1
1
X1=3 \/§ m
44 (b) P=1 Q=sinx 1
X
1
Intergrating factor =e/ P4x = glog x=x
xy= [xsinxdx+C 2*
Xy =—xcosx+sinx+C 1
45 dx
(@ —=kx 1
dt
x =C ekt 1
t=0=C = x, 1
t=05,x =3x, > e = 1
t =10,x = 9x, 1
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45 (b) a=20+2j+k
b=27+3]+3k 1
¢=31+2]+k
Required Vector equation is
?=(2?+2f+§)+s(2?+3f+3z) o
+t(3T+2)+ k)
Required Cartesian equation is 2*
3x—7y+5z+3=0
46 (a) Diagram 1
2h
A=4ja\/a2—x2dx 2"
0
2
([Va?—x? dx =§\/a2 — x2 +a7sin_1§)
= mab 2
46)b) (y—2)2=8(x—-1) 2
Vertex = (1,2) 1
Focus = (3,2) 1
Equation of directrix is x+1=0 1
47)a) MA
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47(b) Let — = aq, 1 = b, 1 =cC
X y z
A= —15 1
Ag= —15 1
Ap=—5 1
A= =5 1
x=1y=3,z=3 1

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377

Mgn/dgl/2024/+2/maths key


user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

user
Typewriter
XII - MARCH 2024


